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O &dot=ER=a 330,000& 123 3,960
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2N BHA
I HHSAZ|(BAL)
el i Eg| (St &)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
iy 28,427
03 BRA(RIIH X)) 22 E S 42,140 43,294 N1,154
O J1E22 2,389,060 x1H*12& 28,669
J| 13,713
= 14,956
O HILH(22569) (201 XH2)
2,389, 06003 *1H x30%+23| 1,434
O H0Z(2H1%012)
2,389, 060&! * 15 *50%+23] 2,390
O AZ2RI224+2(ZHIFIH2)
20,6103 *10A1 21+ 122 2,474
SPERSTERESIE)
60,0003 x1H +12& 720
O HHTAH|(2H1%7H)
140,000& 15 *12& 1,680
O Uole(ZHIFIH2)
30,0002 x 18+ 12& 360
O BI2B4TH224565)(2HIXH2)
50,000 x 1~ 12& 600
O YEEIM|(2H1F0H=)
2,389, 060& * 15 *60%+23] 2,867
O MMAEBI(2HIFIH2)
37,834,000 *2. 5% 946
M AZSRE3ES 4,699 4,827 N128
04 SRE(DIA) 22N 2ERRES S 4,69 4,827 A1
O 2WZLHS(2HIEIIE)
42,140,000 *4.5% 1,897
O ALEHS(2HIZINE)
42,140,000& *3.545% 1,4%
O LI QUYES S (Z2HIFIIR)
1,494,000 *12.81% 192
O NEE82(ZHI:It=2)
42,140,000 *1.75% 738
O MBS =S (ZHIF=012)
42,140,000& *0.896% 378
ZEAUL AL (BRE 2124H() 52,663 47,658 5,005
| 18,857
= 33,806
101 214 44,557 39,819 4,738
J| 15,046
= 29,511
03 BRH(PINHS) 2222 44,557 39,819 4,738
O Jlez 2,311,060 x 1H+12& 27,733
J| 13,866
iy 13,867
O 9EIIHI 2,311, 000& * 1H x60%+23| 2,774

- 747 -




A AL
M S™oAY| (P2
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 40
s 2,734
O HHZAHI 140,000 x 12 * 12 1,680
7l 780
Ea 900
O &3 60,0003 1 * 128 720
Jl 360
2 360
SRVEICIESEY
2,311,060 x 12 +50%+22] 2,312
SNEEELESIGIESED
19, 600 +20AI 2H 12+ 122 4,704
O B24g(247-84)(2H12I12)
2,311,060 x1 & *40%*22] 1,849
O iel4ZH(2I%0tH2
30,0002 x 1~ 122 360
O ®II22 4 (5E-104012H) (2HIZIH2)
50,0008 x 18 x 122 600
O HEE(ZHIFIH2) 840
— B Xt 40,0002 x1&8* 12042 480
L PE 30,0002 x1& 1204 360
O HRMAB(2HIFIHE)
39,372,0002 *2. 5% 985
M HASFESS 8,106 7,839 267
Jl 3,811
[Ea 4,29
4 BRA(RIHA)22N BEERES S 8,106 7,839 267
O &&= 3,136,800& x1H 3,137
Jl 1,568
= 1,569
O zugd=s2ge 44,557 ,000& %4 5% 2,006
Jl 1,003
o 1,003
O dLLE= 44,557,000 +3.545% 1,580
2l 790
Ea 790
O oIeLEE=
1,580,0002%12.81% 203
Jl 101
Ea 102
O N8=28s 44,557,000 %1.75% 780
Il 149
o 631
O tii2e= 44,557,000 +0.896% 400
Il 200
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A AL
M S™oAY| (P2
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 200
S o2l 197,544 190,730 6.814
Jl 70,079
= 14,013
o 113,452
101 @1A4H| 166,524 189,901 6,623
Jl 63,857
= 12,769
= 89,898
03 SRH(RINAHA) 222+ 166,524 159,901 6,623
O AMESAr 39,39
-Jl== 2,207,060« 1H* 123 26,485
Il 13,242
= 2,648
= 10,595
— NS A 140,000 x1&* 122 1,680
Il 840
= 168
= 672
—g&Sotdl 2,207,060 x 1 +60%*22] 2,649
Jl 1,324
= 264
= 1,061
-d2=+E(IHIFH2)
2,207,060 * 12 +30%*22] 1,325
-ao3(ZHIFI2)
2,207,060 x1H x50%*22] 2,208
—A2A2RE(ZHIFIHE)
18,8102 x10AI 2+ 1H* 123 2,258
—IESE(EHFIE)
20,0008 x 18 x 122 240
- AA+E(ZHIFH2)
60,000 1 * 122 720
—telg(ZHIFIh2)
30,0002 x 1 * 12 360
- &II2B0RS(5E 0] &~10E 018 (Z2HIF
HE) 50,0002 x 18 x 122 600
- XM MEBI(ZHI=IH=2)
34,925,000 2. 5% 874
O S 87,070
-Jl== 2,363,060 2+ 122 56,714
) 28,357
& 5,671
= 22,686
- dAS A 140,000 2+ 122 3,360
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M BAA
MM HHS2LFH|(BHA)
CHel: Q29|
£ = qE|
A -3 - A4A(3H) - MRAY - BES 04| &keH OE”E&
Il 1,680
[= 336
= 1,344
—YHESIHH| 2,363, 080 x2H +60%+*23] 5,672
Il 2,836
[= 567
= 2,269
- YIS (Z2HIF=OHe)
2,363, 080 *2H *40%*23] 3,781
— A 2(2HIF=0HR)
2,363, 0602 x2& +50%*23| 4,727
—AZIQIZ22 4 (ZHIFIIE)
20,0102 10A| 2H+2H 122 4,803
- IIELY(2HIF0H)
220,000 *1H 122 2,640
- X2 (2HIFIH)
60,0002 x2% x 122 1,440
—Hel=Y(281FI12)
30,0002+ x 122 720
—Z)| 2L A2 (5E 0] A~10E D] 2 (2HIE
=) 50,0002 1 x 122 600
— A2 IHARZ2 (103 0] A5 0| BH) (2]
F=IHe) 60,0002 x 1 x 122 720
- HLMAHI(2HI=I12)
75,697,000 *2 . 5% 1,893
O XISAEISA THEAY 40,055
=2 2,233,060« 1H 122 26,797
I 13,398
[= 2,679
= 10,720
—HoHFAlH| 140,000 x 1+ 122 1,680
7| 840
[= 168
= 672
-S| 2,233, 0802+ 1 «60%+*23] 2,680
] 1,340
[= 268
= 1,072
-HI2LY(2HIFOH)
2,233, 080+ 1 30%+*23] 1,340
- A 2(2HIF=0H2)
2,233, 0602 * 1 +50%+*23] 2,234
— A2 4 (ZHIFIIE)
19, 000 *10AI2H+ 1+ 2] 2,280
- IIELY(2HIF0H)
20,0004 %22 x 122 480
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SN 2L
M S™oAY| (P2
oel: el 2dH| (CH9): &S
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
S EPEIEESTES)
60,0003 x & x12& 720
—-Uel=g(2815:018)
30,000 x 1~ 128 360
— 2| 2EIH62 (58 0] A~10E 0 8H (28] =
&) 50,0003 x 1 *12& 600
- HLIMEBI(2HIF=IH2)
35,331,000 *2. 5% 884
M ASRE2S 31,020 30,829 191
J| 6,222
& 1,244
= 23,554
M Z2RE(RIH 22X BE2REH=S S 31,020 30,829 191
O AHESAMY EXZ
3,009,600& *1H 3,010
J| 1,500
& 300
= 1,210
O MHESAY 20102282 (2HI=IH=
) 39,399,000 +4 . 5% 1,773
O AHESAIY HABE2(Z2HIFII2)
39,399, 000& *3.545% 1,397
O MHESAY L2 |QALSE2(ZH|IF
=) 1,397,000 *x12.81% 179
O MHESAE DE2EE2(Z2HIFIIR)
39,399, 000& *1.75% 690
O AHESAIY MATHEE 2 (2HIFI12)
39,399, 000& *0.896% 354
O AN ERZ 3,201,600&+2H 6,404
J| 3,202
< 640
= 2,562
O YUAIS Z0IHZ B2 (Z2HIFIE)
87,070,000& %4 . 5% 3,919
O YAAIY HALESEH2(JHIFIIR)
87,070,000& *3.545% 3,087
O HUASH LA QABS 2 (=0
) 3,087,000&*12.81% 39%
O 9UANY D22 (2HIFI2)
87,070,000& *1.75% 1,524
O YAAI MTHEEZ2(ZHIFIIR)
87,070,000& *0.896% 781
O XEASISA! THEAIS €22
3,040,800 «1H 3,041
J| 1,520
= 304
o 1,217
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SN BAL
Mz Y SAAH|(B2AHA)
ool ol 2| (ol @)
S - FB . G(BIH) - NRAY - BAS Ofl by e MimE=E)
O NolAEIZs MEAY 20ASREE(
=HISF0HR) 40,055,000& *4 . 5% 1,803
O XGASIESA HEAIY AUBE 2 (2]
FIH2) 40,055,000& *3.545% 1,420
O XNEASISA! THEAIY S| QUEH
2(2HIFoH=) 1,420,000& *12.81% 182
O NAIBIE HEANY DR2EE (2
=) 40,055,000& *1.75% 701
O NABIEA THEAM MT2EE (2
=II2) 40,055,000 *0.896% 359
KHAISI =4 2HIAIYG (ZRE 21AHH]) 104,474 101,701 2,773
J| 37,202
== 7,439
- 59,833
101 2124d| 88,058 85,382 2,676
J| 33,902
& 6,779
= 47,377
03 222 (2IH) 22 A2 % 88,058 85,382 2,676
O Jl=a2 2,441,060& =2 x 128 58,586
J| 29,293
& 5,858
= 23,435
O HHZAH| 140,000 2 = 128 3,360
J| 1,680
= 336
= 1,344
O YESFIH] 2,441, 060 & #2H *x60%*23] 5,859
J| 2,929
o= 585
= 2,345
O HZ2LY(ZHIFIIR)
2,441, 060& #2H *x40%*23] 3,906
O A Z2(ZHIFIH2)
2,441, 060& #2H *x50%*23] 4,883
O AIRAZ2L24S(ZHIF=IHR)
20,6202 10A| 222 x 128 4,949
O JIIELE(ZHIF=IHR)
90,0003 1~ 128 1,080
O =& (2HIFIH2)
60,0003 x2H 122 1,440
O Uole(ZHIF=IH2)
30,0002 x2% 122 720
O ZJ|12ED12 (530 A10E 0|8 (28] =
oh2) 50,000 x 12~ 128 600
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2A:
T ZH -
o e

=aak

o 0% H
JU 0x 1Y
M0 Mo b~
02 09
o

oy
=
iT
Y
tt

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O FII2EItAS(10H 0] &~15E 0184 (215
oh2) 60,0002 1% 12 720
O MMALI(2HIFI12)
78,183,000 2. 5% 1,955
WM HsEE=S 16,416 16,319 97
Jl 3,300
= 660
o 12,456
04 SRH(RIH )22 BEE=RES S 16,416 16,319 97
O E&= 3,300,000 x2H 6,600
Il 3,300
= 660
[Ea 2,640
O 2VASEERU(ZHIFI)
88,058,000 *4. 5% 3,963
O HLEEE(ZHIFIHE)
88,058,000 +3.545% 3,122
O LoZEIIQLEE=(2HIFIIE)
3,122,0002%12.81% 400
O 1E2ES(Z2HIFIHE)
88,058,000 *1.75% 1,542
O AMEEE(ZHIFIHE)
88,058,000 *0.896% 789
YA ZCIAL (SRA 2l2H]) 216,855 210,684 6.171
= 76,749
< 16,350
T 124,756
101 @124H| 182,997 176,959 6,038
= 70,019
== 14,004
o 98,974
03 SRA(RIH )22 U2+ 182,997 176,959 6,038
O JlZs 2,493,060 «4E« 12 119,667
= 59,834
=S 11,966
s 47,867
O EHZAHI 140,000& x4~ 123 6.720
= 3,360
= 672
o 2,688
O EEF0Hl 2,493, 060 x60m+2 2| x4H 11,97
= 5,983
= 1,197
o 4,787
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g2
B 2o 2| (221 4)
ol 2|
RN - I BRA(E) - HRA - BES of v A
O F2=E(2HIF2)
2,493, 0603 *50%*4 H 23| 9,973
O dous(ZHIFIHE)
2,493, 0602 x50%+4 B 22| 9,973
SNEEELESGEESED
21,0303 *10A| 2H+4H+ 12 10,095
O IHES=E(2HIFIH2) 2,880
— B At 40,0002 x2&* 122 960
- 20,0008 +3%* 122 20
PN E! 30,0001 x 122 360
- =M XA 70,0003 x1&8* 122 840
O MHA=E(ZHIFIH2)
60,0002 x4 * 122 2,880
O Hel=g(2HIF=42)
30,0003 x4 * 122 1,440
O ZI|12&+E(54014~104018H (2815t
2) 50,000 x1&* 122 600
O #1252 (1080[4~15E0(8)
60,0003 2 128 1,440
= 720
S 144
s 576
O FII2E4H(20H014)
100,000& x1&+12& 1,200
[ 122
= 25
s 1,053
O FII2E20H3 (2048 014~25E DIgH(
ZHIZEOH) 10,0002 «1E 122 120
O MHEHI(ZHIFIHE)
161,675,000& 2. 5% 4,042
4 HSFRE2SS 33,858
= 6,730
S 1,346
T 25,782
M SRA(RIAL) 22N EE=RE=s S 33,858
O &&= 3,364,800 x4H 13,460
= 6,730
S 1,346
= 5,384
O 2VUASEH2(IZHIFIZ)
182,997,000& 4. 5% 8,235
O ALEE=(2HIFIE)
182,997,000 *3. 545% 6,488
O LI QABEE(ZHIFIHE)
6,488,0002+12.81% 832
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SN 2L
M S™oAY| (P2
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O DEEES(ZHIFIHE)
182,997,000& *1.75% 3,203
O AMEEZ(Z2HIFIHE)
182,997,000 %0.896% 1,640
XIOHRHY MBI 2R (SSA l12]) 519,302 445,309 73,993
Jl 415,441
T 103,861
101 @124H| 431,061 373,886 57,175
Il 344,850
= 86,211
03 SR (RINHA) 222+ 431,061 373,886 57,175
O Jlzs 2,181,060 x11H+ 123 287,900
Jl 230,320
Ea 57,580
O g2+ 2,181,060 « 118 »25%+23] 11,996
Il 9,597
o 2,39
O dois 2,181,060 « 11 »50%*22] 23,992
Il 19,194
2 4,798
O Ae2Rag
18,6002 x10AI 2tx11Ex 122 24,552
Il 19,642
s 4,910
O IH&E=g 9,240
i SN} 40,0002 -0~ 123 4,320
Jl 3,456
o 864
- IHE(RL) 20,0008 =2 * 122 480
Il 384
e %
— XA (RO 30,0002 x10&~12& 3,600
Jl 2,880
s 720
— XA (S R0t 70,0002 x 18 x 12 840
Jl 672
Ea 168
O Z9sAl 140,000 x11& 128 18,480
Jl 14,784
[Ea 3,69%6
O A=< 60,0002 x11E 12 7,920
Il 6,336
= 1,564
O tel+=g 30,0002« 11H =122 3,960
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SN 2L
M S™oAY| (P2
ohel: oI 23| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 3,168
s 792
O &J1250H3 (54 014~10E012H)
50,0002 x8& =122 4,800
) 3,840
o 960
O EEFJHI 2,181,060 * 1B »60%*22] 28,790
7l 23,032
Ea 5,758
O XM=& 377,230,000& *2. 5% 9,431
Il 7,545
[Ea 1,886
M HASFESS 88,241 71,423 16,818
Il 70,591
s 17,650
M BRA(RIHS) 22N BEE2RE=s S 88,241 71,423 16,818
O &&= 3,349,600« 12 40,196
Jl 32,157
T 8,039
O zugs=s2Ega 431,061,000& *4.5% 19,398
Jl 15,518
[Ea 3,880
O dHLE= 431,061,000 %3.545% 15,282
Jl 12,225
s 3,067
O oIIeLEE=
15,282,000 *12.81% 1,958
Il 1,566
= 392
O 1s28= 431,061,000&*1.75% 7,544
Jl 6,035
s 1,509
O ti2e= 431,061,0002 +0.896% 3,863
7l 3,090
T 773
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